








From the above computations the best quantity to order is 2000 tonne.



& Inventory Holding period = No of Days in year

MTR

&Material R = 365 - 54 :72 days .
-55 days

6 . 67

Material S: 365 J 71 . 71 days. 9 72 days .
5709

③ Decision Materialsisslow moving materials. because its see
↑

63(B) primary Distribution overheads

Particulars . Basis Total Production Dept Service Dept

A B C B E

Direct material given 60 , us & -
- 25020 35,020

lighting No of light Point 13 ,500 362045202700 1575 1125

[16 : 20 : 12 : 7 : 5]

Direct Wages

I given
J

I
40 ,00

I
-- - 250201500

Contribution to Direct Wages . 16 ,250 4550 585032501625 975

p . F [14 : 18 : 10 : 5 : 3]

Labour welfare No of employees 1890048605940324027002160

Expenses. [9 : 11 : 6 : 5 : 4]
Insurance of value of machine 1500 33756375262515001125

plant machinery C9 : 17 !7 : 4 : 3]
Deph on Building floor Area 56

,258 12,500 1875093758125752
[20 : 30 : 15 : 13 : 12

Total Primary Distribution overheads 2, 19 ,900 28
.885 41

,415 21 , 190 65,525- 62 ,885





A Amt Hours.

Gos-
Go&

Y 10

=15

Ourtime = 15 X2 = E30

T statement showing Labour cost

particulars A B
Basic wayes 40 520

B - A [50%] 20 260

Employer contribution to p . f

A 400x8%] 32

B S 520x8%] 41 .6

Employer Contribution to ESI
A [400X2%] 8 10 . 4

B [520X2 %]
Total Labour Cost 640 832

Labour cost per Hour . 640
=

1 . 6 83
= 2. 08

Go T

It statement showing allocation of wayes to jobs-

Job X Joby Job 2
Labour cost 256 192 192
A [40 : 30 : 30 :]

Labour cost 208 291 . 2 332 . 8

B [25 : 35 : 40]

over time. 30

464 483 . 2 554 . 8






